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3.1

3.1.1

1 A+0=A A-0=0
A+1=1 A-1=A
A+A=A A-A=A
A+A=1 A-A=0
A=A

2 A+(B+C)=(A+B)+C A-BC=AB-C

3 A+BC=(A+B)-(A+C) |[A(B+C)=AB+AC

4 A+B=B+A A-B=B-A
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B (A +C)=BA+BC
A+D A
3.
=B [(A +D) +C ] =B(A +D) + BC=BA + BD + BC

=B (A +D) +BC = BA + BD + BC



2. -

+ +

L
1 L=AB+CD+0

L=(A+B) -(C+D)-1=(A+B)(C+D)

2

L=A+BC+D+E

(1)
(2)

L=A4 (B C) D E



L
L=(A+B)(A+C) L' = AB + AC
A+BC=(A+B)(A+C)
A(B+C)
=A(B+C) = AB+AC=
A+BC=(A+B)(A+C)

AB+AC
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3.14

_2=( A+C) (A+B)

L3s=AB - AC

1= AB+AC = -

La=( A+C )+ (A+B)

ls=AB+AC
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_1= AB+AC

_2=( A+C) (A+B)

| 3= AB - AC

_4=( A+C )+ (A+B)
5=AB+AC

Ls L1
L. = AB+ AC = ABe AC =(A+B)(A+C)

= AA+ AC+AB+BC =AB+AC=L,
L2 - L4

L, =(A+C)(A+B)=(A+C)(A+B) =A+C+A+B=L,
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L, = ABC + ABC + ABC + ABC = AB(C +C)+ AC(B+B)
L, = AB+AC+BC =AB+AC=L,
L, = AB+ AC
L3
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A+A=1
L=AB C+ABC =AB(C+C)=AB
A+AB=A
L=AB+ ABCD(E +F)=AB
A+AB=A+B
L=AB+AC+BC =AB+(A+B)C

— AB+ ABC= AB+C
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A=A( B+B)

L=AB+AC +BC =AB+AC+(A+A)BC

=AB+ AC + ABC + ABC
=(AB+ ABC)+(AC + ACB)
=AB+ AC

1 L=AB+BC+BC+AB
—- AB+BC+BC A+A+AB C+C
:ﬂg+_IB_E_+A§C+Z\§C+KBC+E_B_E

- AB(1+C)+BC1+A + AC+ B+B
= AB+BC+AC
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2 L=AC+ABC+ACD+CD
—A C+BC+C AD+D

=A C+B +C A+D =AC+AB+AC+CD
=A C+C +AB+CD=A+AB+CD=A+CD

A+AB=A+B

3 L=A+B+CD+ADeB

=A+BCD+AD+B =A+B

4 L=AB+C)e A+B+C ¢ABC
=[A+B+6]o A+B+C o A+B+C

- A+BC A+ AB+AC+AB+BC+ +BC+C

- A+BC A+C =A+AC+ ABC+BC
= ATEC

Soncr xS



o A+AB=A+B

L=AB+’ _+BC+BC+BD+BD+ADE F+G

—AB+C +BC+BC+BD+BD+ADE F+G

— fe BC+BC+BC+BD+BD+ADE F +G A+AB=A
=A+BC D+D +BC+BD+BD C+C +ADE F+G

— A+ BCD + BCD + BC + BD + BCD + BCD

- A+BD C+1 +CD B+B +BC 1+D
- A+BD+CD +BC
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3.1.3 (a—f)
3.1.6
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